O 24:Huvilke udtryk er ens?

a: a-a-a-a A: a
b: at+a+a+a B: 2a°
c: a’+2a’ C: 3a
d: 2-5a-4a D: 4a
e: 10a:2-2a E: 6a
f: a-a-a+a-a-a F: 3a’
g: @—a G: a'
3
(O 25: Reducer disse udtryk:
2-3a+5+4a-3 3+4-3b-7b+7-2b 4y +5-3x+8-2y - 7x
12x:3+2+5x—4-2 4¢* +2¢=3-2 7u? —=3-2u+5u’ +6u-2
z-2+2+52°-2-3 9a-a-a+7-6a-a’ -2 %+6+4b—8
O 26: Hvilke udtryk er ens?
a: 6a+(5-2a)—4 A: 4a+8
b: a+(Ba+2)+6 B: 4a+6
¢: 9+(6a—3)—-2a C: 4a+1
O 27:Hvilke udtryk er ens?
a: 3(2a+4b) A: 4a-3b
b: (4a—-2b)-4 B: 5a+b
¢c: (8a—6b):2 C: 6a+12b
d: 152+3b D: 16a—8b

3



O 28:Reducer (nogle af) disse udtryk:

Ta+(5—a)-38 10+ (5x—-9)-2x 8y—4z+(6z-2y)-y

2(2a+5)+5a-3 9b +3(4—-2b) 3(4x+3y+5)+5x -7y -10
12u-6

42y +3)+(6y—8):2 10d +10(2c —3d) +¢ +5u+4

O 29: Hvilke udtryk er ens?

a: 8a—(5+2a)+3 A: S5a+3
b: 5a—(3a-2)+4 B: 4a-1
c: 9-2(5-2a) C: 2a+6
d: 13a—-4QRa+3)+15 D: 6a-2

O 30: Reducer (nogle af) disse udtryk:
10x —(4+6x)+7 7y —(4y —37z) + 8z 11-2(4—-3a)—a

12—-(2a+3)+5a [Tu-32u+4)+16 5c—4(3d—-2c)+14d



